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8 N

bon s thap phan, thtr ty cac phép toan

6,7—2,4+5,4%x5,9=

5,9+3+6,1x4,6=

6%6,2+3+2,5=

5,6 -5,3+3,3x4,6=

2,5-12%x3,6+4 =

Ngay thang:

5,1-3,5%x5,3+2,8=

6,9+2,9+2,8x2,7=

6,6+12x4,8+4=

18x4+3+3,3=

4,4-5,6%57+4,9=
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Piém:
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.@. an® (()) @@

8 N

bon s thap phan, thtr ty cac phép toan

6,7—2,4+5,4%x5,9=36.16

5,9+3+6,1%x4,6=36.96

6x6,2+-3+2,5=149

5,6 -5,3+3,3x4,6=1548

2,5-12x3,6+4=-83

Ngay thang: Diém:

5,1-3,5x5,3+2,8=-10.65

6,9+2,9+2,8x2,7=17.36

6,6 +12x4,8+4 =21

18x4+3+3,3=273

4,4—-5,6x57+4,9=-22.62
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